gender £+ 0 (3 1

0.58
0.075
.
>
g .
£ 0.050
£
o
°
3 .
o
0.025 .
HE)
0.000
0 1
gender
gender 7 0 B 1
0.62
0.15 °
o
1
80.10 . .
o .
°
3 .
g . .
H
2005 N
g
L
o P
. ': 'S
0.00
0 1
gender

gender (51 0 B 1

0.71
. | .
0.15
S e .
8 . .
£0.10 o o8
g o
5 .
8 o o
2 S
0.05 oo oy
IR
i
0.00 .
0 1
gender
gender 7 0 B 1
0.22
0.15 .
. .
=
o0 .
2
8
3 .
8
=
0.05
0.00
0 1
gender
gender 7 0 B 1
0.15
9
2
$
B 0.10 .
® .
8
X
E -
0.05 L.
DEERTS
0.00
0 1
gender
gender 7 0 B 1
059
0.20 °
.
o
3 . . .
5 ot
Bo1s
g oo 3 obe
g - tefe
g IR
Eo.10 it
< o
8 LR
2 o
l
3 P
S 0.05 g
ot
0.00 wvdots
0 1
gender
gender 7 0 B 1
0.15 —r
3 .
§010 R
5 .
3
e
2
30.05
P
0.00
0 1

gender

gender £ 0 B 1

04 0.07
-1
03
2 ° °
g
502
8
I
0.1
00
0 1
gender
gender £+ 0 B8 1
0.081
0.06
2 ..,
So04 .
E .
3
2
b
o 2
0.02
0.00
0 1
gender
gender £ 0 B9 1
0.68
L —|
03 °
. .
3
<
302 ol
s
g
£
5
g
5
2
0.1
00
0 1
gender
gender [+ 0 £ 1
0.56
1
0.04
2
8
§, . . .
.
2
§
.
=002 . . :
-~
. ol
. *ee
0.00
0 1
gender
gender [+ 0 £ 1
017
0.09 °
H
o N -
S
g
5008 Uk .
3 oo .
0.03 N N
Iy .
—_—
0.00
0 1
gender
gender 7 0 E 1
0.15
04
o
2
3
203 .
z o ..
§ ..
3 oy
E %l
éM e
ca®, %
2 e
3 o v,
0.1 Pt
BB
0.0 - ° .
0 1
gender
gender [+ 0 3 1
0.08 —
0.06
£l
3
3
©
£
g 0.04 .
2
8
[ * .
0.02
0.00 = =
0 1
gender

gender £ 0 (5 1

0.07
1
0.06
g
2
8 .
20,04
3
3
)
z .t
g .
g .
8002 .
0.00
0 1
gender
gender 7 0 B 1
05
1
R .
06 . .
.
.
s
g
2
) s °
204 .
2
5
1
g
8
=
02
00
0 1
gender
gender 7 0 B 1
0.99
1
502 N .
3
e .
2
2 .
8
2
8
801
=
00
0 1
gender
gender £ 0 (5 1
0.15 0.01
0.10
B .
2
g
e
H .
3
E
0.05
0.00
0 1
gender
gender 7 0 B 1
0.055
02 .
o .
3 R
S :
£ - .
8
204
.
.
.
00 QZ{@
0 1
gender
gender 1 0 B 1
05 061
0.4 . ‘
203
o
o
T
3
- 02
0.1
00
0 1
gender
gender £ 0 B3 1
059
5010
g
g
z s e
§ o
= o %
ES .
& o
2005 °:
3 Jd.
= A
. 8
Y
o S
0.00 - Teboer
[ 1
gender



